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CLOCK

1) A watch which gains uniformly ,is 5 1) U® U3 &l ¥09 ¥4 & agd! 8, 98 War
min,slow at 8 o'clock in the moming on &I Ja® 8 a9 5 fiye Tt (=) &1t 8 iR
sunday and it is 5 min 48 sec. fast at 8 A IAAR H 7T 8 TN 5 AT 48 AT

p.m on following sunday. when was it a9 (BIC) Bldl 81 U8 US! ®a We 9HY

correct? qar g 4

a) 7pm on Wednesday a) gmuﬁmnﬁ
\p/zsminpast'lpmonw&nesday \Wnuhm7mzofﬁaz

¢) 15 min past 7 pm on Wednesday ¢) qUAR P AW 7 T9HR 15 e

d) 8 pm on Wednesday d) qUAR P! I 8 T










CLOCK

2) In a watch, the minute hand crosses the ) u® U@l # fiyqe # 9 I Fa F §7 3

hour hand for the third time exactly after
every 3 hr 18 min and 15s of normal time.
What is the time gained or lost by this

watch in one day?

a) 14 min 10 s lost

\/bn/3min485lost

¢) 13 min 20 s gained
d) 14 min 40 s gained

ue 18 fire 3R 15 ¥ & T di dd

R U P gE B UR (B1N) B! 81 98 uI
u® 3= & fra=n dw a1 dhft gift 2

a) uﬁr=rz1omtfrﬁtv’hﬂ

13 fi=e 48 @3 it ght
¢) 13 f9e 20 9% &1 99y dw it
d) 14 e 40 A% s 1 I9Y A= gl
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3) Find the time between 11 am and 12 pm, 3) 11 @9 Yafg 3R 3IUET 12 T & &9 #7134
when the angle between minute and hour  |WY ! JId Fiferg, ora e ik 42 9t 4

handié\:s«gms. & dha &1 ®vr 45 B0 8
S\
9 N
\)A)/minpastn \ﬂ/nm\,s’aﬁﬁ Sl/-"ﬁm‘_
(B) 13 Min past 11 b) 11dw®v 13 f=e H
(C) 12 min past 11 ¢ 1w 12 fA=e

(D) 68 2/11 min past 11 d) 11a9®T 68 2/11 fi=e
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4) Between 5 and 6, a lady looked at her 4) 5 3¥ ¢ &t & €19 s wfgen F Fww g
watch and mistaking the hour hand for the ¥} g7 ud} 3ik 393 W & 9 &) e &
minute hand, she thought that the time  w§ wuw forar 3k I/ o 5 Iud vt &1
was 57 minutes earlier than the correct mwﬂmé 57 ﬁ?’ﬁ'ﬂ!ﬂt ?ﬁm

time. The correct time was CACGRIELUEIEIE LR
a)Z4 minutes past 5 a qasT 24 f=e
b) 12 minutes past 5 b) 5dwPY 12 =
¢) 36 minutes past 5 ¢) 5quHT 36 e

d) 48 minutes past 5 d) 5 quPT 48 e
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5) The minute hand of a clock overtakes the 5) U® U3! &t fi-e &1 9§ Wt 9wy & 76 e
hour hand at intervals of 76 min of the & 3E W ¥e F1 9§ & adt 8, ot aagu
correct time. How much does a clock gain & ag U3l us 3= # o= aw a1 it awy

or lose in a day ? Farar g2
a) 198 min (loss) a) 198 firme (ddh)
b) 198 min (gain) b) 198 e @w)
199 169/209 min (loss) \ 199 1697209 fire (dfiefh)

d) 199 min (gain) d) 199 fi=e @w)
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